
5

3

6

24

7

4

11

8

10

1

9

2

16

17 11 12 13 18

15

13

12

22

25

26

8
27

23

14 21 19 202828

ITEM: PART No: DESCRIPTION 3" QTY. 3" and 4" 
QTY.

1 202050 1/8 INCH A/B EXPANDED NEOPRENE GASKET 1 1
2 206171 3 INCH CYCLONIC INLET CONNECTOR  MACHINED 1 1
3 206169 DRUM LOCKING NUT 1 1
4 206168 DRUM LOCKING PIN 1 1
5 206167 DRUM KNOB 1 1
6 219353 COMPRESSION SPRING 1 1
7 206188 THREAD CONNECTOR MOULDING 1 1
8 303121 BLANKING CAP FIX WIRE 1 2
9 219101 No8 X 1/2 INCH LONG POZI PAN PLASTIITE SCREW 1 1

10 219050 M5 X 16MM LONG POZI PAN SCREW 1 1
11 219045 M5 X 16MM LONG POZI PAN SEMS SCREW 13 13
12 219005 M5 FORM G WASHER 6 12
13 219076 M5 NYLON INSERT NUT 6 12
14 300041 PROCESSED (STAINLESS STEEL) CONTAINER 3" 1 -
14 300077 PROCESSED (STAINLESS STEEL) CONTAINER 3" & 4" - 1
15 20638V 19MM BLACK TUBE END STOP 4 4
16 402011 BLACK HANDLE 2 2
17 219468 M5 HEADED NUTSERT 8 8
18 219120 HALF COLLAR 10 10
19 219118 5MM DIA POP RIVET 10 10
20 206023 TOGGLE LARGE CLAW (Zinc plate finish) 3 3
21 403001 BACK BRACKET 1 1
22 202084 4 INCH CYCLONIC ADAPTOR GASKET - 1
23 206270 3 1/2 INCH PIPE PROTECTION CAP - 1
24 206363 BLANKING CAP - 1
25 301043 PROCESSED 4 INCH CYCLONIC ADAPTOR - 1
26 219546 M5 X 20MM LONG POZI PAN SEMS SCREW - 5
27 219054 M5 X 20MM LONG POZI PAN SCREW - 1
28 219007 M6 FORM B WASHER 10 10

Numatic International Spare Parts
Model No:

DRAWING: DRW-23987    ISS:A19
Numatic International Spare Parts
Model No:12/09/2017DRUM STYLE 17 EXPLODED DRAWING FOR 3"/4" INLETS DRUM STYLE 17 EXPLODED DRAWING FOR 3"/4" INLETS

500158,500300Internal Code:

PRO


	Sheet1
	Drawing View2


